# ON A NEW APPLICATION OF QUASI POWER INCREASING SEQUENCES 

HíKMET SEYHAN ÖZARSLAN


#### Abstract

In the present paper, a theorem on $\varphi-|C, \alpha ; \delta|_{k}$ summability of an infinite series is obtained by using a quasi $\beta$-power increasing sequence.


AMS Mathematics Subject Classification : 26D15, 40D15, 40F05, 40G05.
Key words and phrases : Absolute summability, Cesàro mean, infinite series, summability factors, Hölder's inequality, Minkowski's inequality, quasi power increasing sequence.

## 1. Introduction

A positive sequence $\left(b_{n}\right)$ is said to be almost increasing if there exist a positive increasing sequence $\left(c_{n}\right)$ and two positive constants $K$ and $M$ such that $K c_{n} \leq b_{n} \leq M c_{n}$ (see [1]). A positive sequence $\left(\gamma_{n}\right)$ is said to be quasi $\beta$-power increasing sequence if there exists a constant $K=K(\beta, \gamma) \geq 1$ such that $K n^{\beta} \gamma_{n} \geq m^{\beta} \gamma_{m}$ holds for all $n \geq m \geq 1$ (see [13]). Every almost increasing sequence is a quasi $\beta$-power increasing sequence for any non-negative $\beta$, but the converse need not be true as can be seen by taking the example, say $\gamma_{n}=n^{-\beta}$ for $\beta>0$. A sequence $\left(\lambda_{n}\right)$ is said to be of bounded variation, denoted by $\left(\lambda_{n}\right) \in \mathcal{B} \mathcal{V}$, if $\sum_{n=1}^{\infty}\left|\Delta \lambda_{n}\right|=\sum_{n=1}^{\infty}\left|\lambda_{n}-\lambda_{n+1}\right|<\infty$. Let $\sum a_{n}$ be an infinite series with partial sums $\left(s_{n}\right)$. By $u_{n}^{\alpha}$ and $t_{n}^{\alpha}$, we denote the $n$th Cesàro means of order $\alpha$, with $\alpha>-1$, of the sequence $\left(s_{n}\right)$ and $\left(n a_{n}\right)$, respectively, that is (see [9])

$$
\begin{align*}
u_{n}^{\alpha} & =\frac{1}{A_{n}^{\alpha}} \sum_{v=0}^{n} A_{n-v}^{\alpha-1} s_{v} \\
t_{n}^{\alpha} & =\frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n} A_{n-v}^{\alpha-1} v a_{v} \tag{1}
\end{align*}
$$

[^0]where
$$
A_{n}^{\alpha}=O\left(n^{\alpha}\right), \quad A_{0}^{\alpha}=1 \quad \text { and } \quad A_{-n}^{\alpha}=0 \quad \text { for } \quad n>0
$$

Let $\left(\omega_{n}^{\alpha}\right)$ be a sequence defined by (see [21])

$$
\omega_{n}^{\alpha}=\left\{\begin{array}{cc}
\left|t_{n}^{\alpha}\right|, & \alpha=1  \tag{2}\\
\max _{1 \leq v \leq n}\left|t_{v}^{\alpha}\right|, & 0<\alpha<1
\end{array}\right.
$$

Let $\left(\varphi_{n}\right)$ be a sequence of positive numbers. The series $\sum a_{n}$ is said to be summable $\varphi-|C, \alpha ; \delta|_{k}, k \geq 1, \alpha>-1, \delta \geq 0$, if (see [23])

$$
\sum_{n=1}^{\infty} \varphi_{n}^{\delta k+k-1}\left|u_{n}^{\alpha}-u_{n-1}^{\alpha}\right|^{k}<\infty
$$

Because of the equality $t_{n}^{\alpha}=n\left(u_{n}^{\alpha}-u_{n-1}^{\alpha}\right)$ (see [12]), the definition of the $\varphi-|C, \alpha ; \delta|_{k}$ summability can be given as

$$
\sum_{n=1}^{\infty} \varphi_{n}^{\delta k+k-1} n^{-k}\left|t_{n}^{\alpha}\right|^{k}<\infty
$$

On taking $\varphi_{n}=n$ in above definition, we get the definition of $|C, \alpha ; \delta|_{k}$ summability (see [11]). If we take $\varphi_{n}=n$ and $\delta=0$, then $\varphi-|C, \alpha ; \delta|_{k}$ summability is the same as $|C, \alpha|_{k}$ summability (see [10]). Also, if we take $\varphi_{n}=n, \delta=0$ and $\alpha=1$, then $\varphi-|C, \alpha ; \delta|_{k}$ summability is the same as $|C, 1|_{k}$ summability (see [10]).

The following theorem on $|C, \alpha|_{k}$ summability has been proved by Bor and Srivastava (see [7]).

Theorem 1.1. Let $\left(X_{n}\right)$ be an almost increasing sequence and let there be sequences $\left(\mu_{n}\right)$ and $\left(\lambda_{n}\right)$ such that

$$
\begin{gather*}
\left|\Delta \lambda_{n}\right| \leq \mu_{n}  \tag{3}\\
\mu_{n} \rightarrow 0 \quad \text { as } \quad n \rightarrow \infty  \tag{4}\\
\sum_{n=1}^{\infty} n\left|\Delta \mu_{n}\right| X_{n}<\infty  \tag{5}\\
\left|\lambda_{n}\right| X_{n}=O(1) \quad \text { as } \quad n \rightarrow \infty \tag{6}
\end{gather*}
$$

If the sequence $\left(\omega_{n}^{\alpha}\right)$ defined by (2) satisfies the condition

$$
\begin{equation*}
\sum_{n=1}^{m} \frac{1}{n}\left(\omega_{n}^{\alpha}\right)^{k}=O\left(X_{m}\right) \quad \text { as } \quad m \rightarrow \infty \tag{7}
\end{equation*}
$$

then the series $\sum a_{n} \lambda_{n}$ is summable $|C, \alpha|_{k}, k \geq 1$ and $0<\alpha \leq 1$.

## 2. Main Result

One can see some papers on generalized Cesàro summability ([3]-[6], [14]-[20], [22]). The aim of this paper is to obtain a theorem which generalizes Theorem 1.1 by using a quasi $\beta$-power increasing sequence in the following form.

Theorem 2.1. Let $\left(\lambda_{n}\right) \in \mathcal{B V}$ and $\left(X_{n}\right)$ be a quasi $\beta$-power increasing sequence. Let the conditions (3)-(6) be satisfied. If there is an $\epsilon>0$ such that the sequence $\left(n^{\epsilon-k} \varphi_{n}^{\delta k+k-1}\right)$ is non-increasing and the sequence $\left(\omega_{n}^{\alpha}\right)$ defined by (2) satisfies the condition

$$
\begin{equation*}
\sum_{n=1}^{m} \varphi_{n}^{\delta k+k-1} n^{-k}\left(\omega_{n}^{\alpha}\right)^{k}=O\left(X_{m}\right) \quad \text { as } \quad m \rightarrow \infty \tag{8}
\end{equation*}
$$

then the series $\sum a_{n} \lambda_{n}$ is summable $\varphi-|C, \alpha ; \delta|_{k}, k \geq 1, \delta \geq 0,0<\alpha \leq 1$ and $\alpha k+\epsilon>1$.

## 3. Lemmas

To prove Theorem 2.1, we need the lemmas given below.
Lemma 3.1. [8] If $0<\alpha \leq 1$ and $1 \leq v \leq n$, then

$$
\begin{equation*}
\left|\sum_{p=0}^{v} A_{n-p}^{\alpha-1} a_{p}\right| \leq \max _{1 \leq m \leq v}\left|\sum_{p=0}^{m} A_{m-p}^{\alpha-1} a_{p}\right| \tag{9}
\end{equation*}
$$

Lemma 3.2. [13] Under the conditions on $\left(X_{n}\right),\left(\mu_{n}\right)$ and $\left(\lambda_{n}\right)$ as taken in the statement of Theorem 2.1, we have

$$
\begin{gather*}
n \mu_{n} X_{n}=O(1) \quad \text { as } \quad n \rightarrow \infty  \tag{10}\\
\sum_{n=1}^{\infty} \mu_{n} X_{n}<\infty \tag{11}
\end{gather*}
$$

Proof of Theorem 2.1. Let $0<\alpha \leq 1$. Let $\left(M_{n}^{\alpha}\right)$ be the $n$th $(C, \alpha)$ mean of the sequence $\left(n a_{n} \lambda_{n}\right)$. So, we have

$$
M_{n}^{\alpha}=\frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n} A_{n-v}^{\alpha-1} v a_{v} \lambda_{v}
$$

by (1). Applying Abel's transformation, we get

$$
M_{n}^{\alpha}=\frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n-1} \Delta \lambda_{v} \sum_{p=1}^{v} A_{n-p}^{\alpha-1} p a_{p}+\frac{\lambda_{n}}{A_{n}^{\alpha}} \sum_{v=1}^{n} A_{n-v}^{\alpha-1} v a_{v} .
$$

Here, using Lemma 3.1, we have

$$
\begin{aligned}
\left|M_{n}^{\alpha}\right| & \leq \frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n-1}\left|\Delta \lambda_{v}\right|\left|\sum_{p=1}^{v} A_{n-p}^{\alpha-1} p a_{p}\right|+\frac{\left|\lambda_{n}\right|}{A_{n}^{\alpha}}\left|\sum_{v=1}^{n} A_{n-v}^{\alpha-1} v a_{v}\right| \\
& \leq \frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n-1} A_{v}^{\alpha} \omega_{v}^{\alpha}\left|\Delta \lambda_{v}\right|+\left|\lambda_{n}\right| \omega_{n}^{\alpha} \\
& =M_{n, 1}^{\alpha}+M_{n, 2}^{\alpha} .
\end{aligned}
$$

To complete the proof, we need to show

$$
\sum_{n=1}^{\infty} \varphi_{n}^{\delta k+k-1} n^{-k}\left|M_{n, r}^{\alpha}\right|^{k}<\infty, \quad \text { for } \quad r=1,2
$$

First, applying Hölder's inequality with indices $k$ and $k^{\prime}$, where $k>1$ and $\frac{1}{k}+\frac{1}{k^{\prime}}=1$, we get

$$
\begin{aligned}
& \sum_{n=2}^{m+1} \varphi_{n}^{\delta k+k-1} n^{-k}\left|M_{n, 1}^{\alpha}\right|^{k} \\
= & \sum_{n=2}^{m+1} \varphi_{n}^{\delta k+k-1} n^{-k}\left|\frac{1}{A_{n}^{\alpha}} \sum_{v=1}^{n-1} A_{v}^{\alpha} \omega_{v}^{\alpha}\right| \Delta \lambda_{v}| |^{k} \\
\leq & \sum_{n=2}^{m+1} \varphi_{n}^{\delta k+k-1} n^{-k}\left(A_{n}^{\alpha}\right)^{-k} \sum_{v=1}^{n-1}\left(A_{v}^{\alpha}\right)^{k}\left(\omega_{v}^{\alpha}\right)^{k}\left|\Delta \lambda_{v}\right|\left\{\sum_{v=1}^{n-1}\left|\Delta \lambda_{v}\right|\right\}^{k-1} .
\end{aligned}
$$

Here, using the fact that $\left(\lambda_{n}\right) \in \mathcal{B} \mathcal{V}$, we get $\sum\left|\Delta \lambda_{v}\right|<\infty$. Also, by using (3), we have

$$
\sum_{n=2}^{m+1} \varphi_{n}^{\delta k+k-1} n^{-k}\left|M_{n, 1}^{\alpha}\right|^{k}=O(1) \sum_{v=1}^{m} v^{\alpha k}\left(\omega_{v}^{\alpha}\right)^{k} \mu_{v} \sum_{n=v+1}^{m+1} \frac{\varphi_{n}^{\delta k+k-1} n^{\epsilon-k}}{n^{\alpha k+\epsilon}}
$$

Then, we get

$$
\begin{aligned}
& \sum_{n=2}^{m+1} \varphi_{n}^{\delta k+k-1} n^{-k}\left|M_{n, 1}^{\alpha}\right|^{k} \\
= & O(1) \sum_{v=1}^{m} v^{\alpha k}\left(\omega_{v}^{\alpha}\right)^{k} \mu_{v} \varphi_{v}^{\delta k+k-1} v^{\epsilon-k} \int_{v}^{\infty} \frac{d x}{x^{\alpha k+\epsilon}} \\
= & O(1) \sum_{v=1}^{m-1} \Delta\left(v \mu_{v}\right) \sum_{r=1}^{v} \varphi_{r}^{\delta k+k-1} r^{-k}\left(\omega_{r}^{\alpha}\right)^{k}+O(1) m \mu_{m} \sum_{v=1}^{m} \varphi_{v}^{\delta k+k-1} v^{-k}\left(\omega_{v}^{\alpha}\right)^{k} \\
= & O(1) \sum_{v=1}^{m-1} v\left|\Delta \mu_{v}\right| X_{v}+O(1) \sum_{v=1}^{m-1} \mu_{v+1} X_{v+1}+O(1) m \mu_{m} X_{m} \\
= & O(1) \text { as } m \rightarrow \infty,
\end{aligned}
$$

by Abel's transformation and the conditions (8), (5), (11) and (10).
For $r=2$,

$$
\sum_{n=1}^{m} \varphi_{n}^{\delta k+k-1} n^{-k}\left|M_{n, 2}^{\alpha}\right|^{k}=\sum_{n=1}^{m} \varphi_{n}^{\delta k+k-1} n^{-k}\left|\lambda_{n}\right|^{k}\left(\omega_{n}^{\alpha}\right)^{k}
$$

Since $\left|\lambda_{n}\right| X_{n}=O(1)$ by (6), we write $\left|\lambda_{n}\right|^{k-1}=O(1)$. So, we get

$$
\sum_{n=1}^{m} \varphi_{n}^{\delta k+k-1} n^{-k}\left|M_{n, 2}^{\alpha}\right|^{k}=\sum_{n=1}^{m} \varphi_{n}^{\delta k+k-1} n^{-k}\left|\lambda_{n}\right|\left(\omega_{n}^{\alpha}\right)^{k}
$$

Then applying Abel's transformation and using the conditions (8), (3), (11) and (6), we get

$$
\begin{aligned}
& \sum_{n=1}^{m} \varphi_{n}^{\delta k+k-1} n^{-k}\left|M_{n, 2}^{\alpha}\right|^{k} \\
= & O(1) \sum_{n=1}^{m-1} \Delta\left|\lambda_{n}\right| \sum_{v=1}^{n} \varphi_{v}^{\delta k+k-1} v^{-k}\left(\omega_{v}^{\alpha}\right)^{k}+O(1)\left|\lambda_{m}\right| \sum_{v=1}^{m} \varphi_{v}^{\delta k+k-1} v^{-k}\left(\omega_{v}^{\alpha}\right)^{k} \\
= & O(1) \sum_{n=1}^{m-1}\left|\Delta \lambda_{n}\right| X_{n}+O(1)\left|\lambda_{m}\right| X_{m} \\
= & O(1) \sum_{n=1}^{m-1} \mu_{n} X_{n}+O(1)\left|\lambda_{m}\right| X_{m} \\
= & O(1) \text { as } m \rightarrow \infty .
\end{aligned}
$$

So the proof of Theorem 2.1 is completed.
If we take $\left(X_{n}\right)$ as a positive non-decreasing sequence in Theorem 2.1, then we get a known result (see [23]). Also, if we take $\left(X_{n}\right)$ as an almost increasing sequence, $\varphi_{n}=n, \delta=0$ and $\epsilon=1$ in Theorem 2.1, then we get Theorem 1.1. Furthermore, if we take $\left(X_{n}\right)$ as a positive non-decreasing sequence, $\varphi_{n}=n$, $\delta=0, \alpha=1$ and $\epsilon=1$ in Theorem 2.1, then we get a known theorem on $|C, 1|_{k}$ summability (see [2]).

## References

1. N.K. Bari and S.B. Stečkin, Best approximations and differential proprerties of two conjugate functions, Trudy Moskov. Mat. Obšč. 5 (1956), 483-522.
2. H. Bor, On the absolute Cesàro summability factors, Anal. Numér. Théor. Approx. 20 (1991), 11-14.
3. H. Bor, An application of quasi power increasing sequences, Aust. J. Math. Anal. Appl. 1 (2004), 1-5.
4. H. Bor and H.S. Özarslan, A note on absolute summability factors, Adv. Stud. Contemp. Math. 6 (2003), 1-11.
5. H. Bor and H.S. Özarslan, A study on quasi power increasing sequences, Rocky Mountain J. Math. 38 (2008), 801-807.
6. H. Bor and H. Seyhan, A note on almost increasing sequences, Comment. Math. Prace Mat. 39 (1999), 37-42.
7. H. Bor and H.M. Srivastava, Almost increasing sequences and their applications, Int. J. Pure Appl. Math. 3 (2002), 29-35.
8. L.S. Bosanquet, A mean value theorem, J. London Math. Soc. 16 (1941), 146-148.
9. E. Cesàro, Sur la multiplication des séries, Bull. Sci. Math. 14 (1890), 114-120.
10. T.M. Flett, On an extension of absolute summability and some theorems of Littlewood and Paley, Proc. London Math. Soc. 7 (1957), 113-141.
11. T.M. Flett, Some more theorems concerning the absolute summability of Fourier series and power series, Proc. London Math. Soc. 8 (1958), 357-387.
12. E. Kogbentliantz, Sur les séries absolument sommables par la méthode des moyennes arithmétiques, Bull. Sci. Math. 49 (1925), 234-256.
13. L. Leindler, A new application of quasi power increasing sequences, Publ. Math. Debrecen 58 (2001), 791-796.
14. H.S. Özarslan, On the generalized Cesàro summability factors, Acta Math. Acad. Paedagog. Nyházi. 17 (2001), 3-7.
15. H.S. Özarslan, Factors for the $\varphi-|C, \alpha|_{k}$ summability, Adv. Stud. Contemp. Math. 5 (2002), 25-31.
16. H.S. Özarslan, A note on absolute summability factors, Proc. Indian Acad. Sci. Math. Sci. 113 (2003), 165-169.
17. H.S. Özarslan, Absolute Cesàro summability factors, J. Concr. Appl. Math. 5 (2007), 231-236.
18. H.S. Özarslan, On absolute Cesàro summability factors of infinite series, Commun. Math. Anal. 3 (2007), 53-56.
19. H.S. Özarslan, A note on generalized absolute Cesàro summability, J. Comp. Anal. Appl. 12 (2010), 581-585.
20. H.S. Özarslan, A note on generalized absolute Cesàro summability, Adv. Pure Appl. Math. 5 (2014), 1-3.
21. T. Pati, The summability factors of infinite series, Duke Math. J. 21 (1954), 271-283.
22. H. Seyhan, A note on summability methods, Math. Slovaca 49 (1999), 201-208.
23. H. Seyhan, On the generalized Cesàro summability factors, Acta Comment. Univ. Tartu. Math. 3 (1999), 3-6.

Hikmet Seyhan Özarslan received M.Sc. and Ph.D. from Erciyes University. She is currently Professor of Mathematical Analysis in the Department of Mathematics at Erciyes University, Kayseri, Turkey. Her research interests include summability theory, Fourier analysis, matrix transformation in sequence spaces, and special functions. She has to her credit more than 90 research papers.
Department of Mathematics, Erciyes University, 38039 Kayseri, Turkey.
e-mail: seyhan@erciyes.edu.tr


[^0]:    Received June 25, 2020. Revised August 8, 2020. Accepted April 26, 2021.
    © 2021 KSCAM .

